SECTION 6 EXER C g SEg Pl

1. For each of the following, use the Gram—Schmidt
process to find an orthonormal basis for R(A):

@a=["77 ] wa=|[]

2. Factor each of the matrices in Exercise 1 into a
product Q R, where Q is an orthogonal matrix and

R 1s upper triangular.

3¢ Given the basis {(1, 2, =2)7, (4, 3,2)7, (1,2, )T}
for R?, use the Gram—Schmidt process to obtain an
orthonormal basis.

4. Consider the vector space C[—1, 1] with inner
product defined by
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Find an orthonormal basis for the subspace spanned
by 1, x, and x*.
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et of column vectors and R is up-

B ares problem Ax = b,



